. Aliens from another planet land their spaceship in the middle of the North Oval, They tell us

that their unit of length is a quirdle (q) which is equal to 2.60 meters. If their spaceship has a
living area of 21.0 q~ how many square meters is that?

A) 6.76 m* .
2 a -
2 . (nog) (Z'GM) SELIECS
D) 1150 m? b
E) 2980 m®

Which of the statements below is not true?

A) Physics is based on experimental observations.
B) The mathematical equations used in physics have a physical meaning.
@ The special theory of relativity cannot be accurate because it is only a theory.

D) Physics is considered a fundamental science because the ideas and concepts of physics
are an important part of the foundation of many other science and engineering field.

E) Even something described as a law of physics, like Newton’s laws, might not be
applicable to all circumstances. '

A"C‘H’r ?(}""‘ (C4M7 Wp,,;y = [UW
Al Ravt varlmg of a(f'l'cl« kil Wy



3. If I write you a check for 15 Mega-dollars how many dollars would you have? (Assume the
check doesn’t bounce.)

@) 1.5x10° 1§ xlob = 1S xto'
1.5x107
C) 1.5x10°
D) 1.5x10¢
E) 1.5x107°

4. You drive for 2.5 hours at an average speed of 55 mi/hr. What distance did you travel in
km?

A) 73km ;5:% '

b s L ) s
@ 220 km ' Al | km

o 240 kon (137.5 ) (/6%1;«_} (_.,—‘MM\ =220 Em

5. Which of the following is true?

A) A car cannot have both a constant speed and a constant velocity. :

B) Both a car traveling at a constant velocity and a car traveling at a constant speed can turn.

C) Neither a car traveling at a constant velocity nor a car traveling at a constant speed can
turn.

D) A car traveling at a constant velocity can turn but a car traveling at a constant speed
cannot.

A car traveling at a constant speed can turn but a car traveling at a constant velocity
cannot.

6. Two vectors, A and C are shown to the right. What
vector, B, can be added to A, so that C = A + B? The

vectors are drawn to scale. .

® ' -

c) D) | B



7. A motorcycle traveling with an unknown initial speed accelerates for 4.5 s at a constant rate
of 3.5 m/s® until reaching a faster speed of 28 m/s, What was the motorcycle’s initial speed?

(Y 12 s Q=352 V: grat

B) 14 m/s L t - ‘t'S“SV Vo-pt s ZS’N’/_( _,Qg'g"‘/sz)(q,i“s)
C) 16 m/s Vo9 !

D) 20 m/s = 2 Y%

E) 24 m/s

8. Consider the graph of position vs time for an
object moving along a straight line as shown in
the figure to the right. What was the object’s 30 /

average speed during the six seconds shown?

EZO
A) 3.33 m/s 4> 10 ™ = 10
B) 6.66 m/s "
C) 833 m/s &* s
Oy 133 mss ¢ 8 M o33 01 2 3 456
E) 16.7 m/s ' € bg < t (seconds)

9. For the same graph as in the previous problem, where is the object moving the slowest?

A) Between O and 1 s.

(B) Between2and3s. Mo+ Mov i g
C) Both between 1 and 2 s and between 4 and 6 s.
D) AtOs.
E) At4s.

10. A bicyclist starts from rest and accelerates at a constant rate for 3.5 s until he reaches a speed
of 8.0 m/s. How far did he travel in that time?

.USQ Ve \/ofut o @,v\dq

A)23m V-0

@) 14m &= 3.5s v=orot:at

©) 18m V=g % s Moz 8| ~
D) 28 m ¥ % € o - 2.29 "2
E) 56 m

Now &id 4
4 Vb viagts Otsat”
(R
= 4 {r2aag) s s M



11. Two cars start from rest and accelerate at the same rate. The second car accelerates for twice
as much time as the first car. How much farther does the second car travel?

Vo0 fur otk

A) Half as far : .
B) The same distance, A i Sume b loth ,t;_— 2*:‘
C) 2 times farther. o) Ukrhat? = orda?
D) 2 times farther )
. - . a
@ 4 times farther C‘/ = 'Si G % when time dyub 'Pj/ t @‘uﬁdf.,lple)

12. A boat is sailing on a lake. In which of the following scenarios is the boat accelerating?

A) Only when the boat is speeding up
B) Only when the boat is slowing down
C) Only when the boat is turning with a constant speed
D) Both (A) and (B) .
(E) All of the above Ve loeity 7S & Vecfn
accelerabpn (f (‘,‘wage n velectf y

13. A ball is thrown horizontally off a 9.8 m high cliff with a speed of 24 m/s. Neglecting air

resistance how long is the ball in the air? .
. )“0 k af \/ﬂrf\(:\l

A) 041s ‘ dive chin only
(?D(l)lits Vo O g 1Em ag7
D) 2.0s ‘ dy* Yt ~Lgt* = O-gt”

E) There is not enough information given to answer this question.

following is true, neglecting air resistance?

&) The acceleration of the ball does not change.

B) The speed of the ball does not change.

C) The acceleration of the ball at the highest point is zero.
D) The speed of the ball is zero at the highest point.

E) None of the above. They are all false.



15. A ball is thrown straighit down from the top of a building. Which of the following is ue
about the motion of the ball while it is falling, neglecting air resistance?

A) The velocity of the ball ‘always points down.
B) The ball continually speeds up.
C) The speed of the ball does not depend on its mass.
D) The acceleration of the ball always points down.
@ The acceleration of the ball increases as the ball falls. accelerativn 1> Cons fan?

16. Two rocks are thrown straight up. The first rock is thrown with twice the velocity of the
second rock. How much time does the first rock take to reach its highest point compared to
the time the second rock takes to reach its highest point?

Vo = 2Voa V20 & bitn

A) Half as long. oF s Sgme B bt

B) The same time

C) V2 times longer. V=V, tat

@) 2 times longer 0= +rat

E) 4 times longer L= J{Q when Vp dubles, & doublea
A .

17. You throw a ball straight down from the top of a building with an initial speed of 12 m/s.
The ball hits the ground 3.2 s later. Neglecting air resistance, how tall is the building?

A) 13m

== M,
B) 42m Vo u,m/;
C) 51 m o~ "Wk

®90m

Cde Vet Lat? X
~12"%)(3.25) T 4 (-10"%) (3.25)

334 - Sh2m = €96 mF Wm

A
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